202011 H1H

JEUREE L B 12 5 < 2020 4F 12 H 90 st oy o A 2Bl o T

s T AR S, TROBHE
FHAEE 1—1HX) Z2HEWZLE L,

FRs AT AR 1

FHEEHIEE | (2K & £ LT 2020 4 12 A0 #EHy o

. SERECEMER I & £ LTI 2020 4 7 H ~2020 4E 9 H D L N GJEEMEitE (BH5H#%
PR IR VEELTEY £,

1. Ak
(1) — e AR (1—1 #X)
(HERL 10%3A)
A B Bkl C £k

H M & 0~25 m 26~350 n 351 ni~
FEABHE (1 8) 1,045.00 H 1,364.00 M 4,690.40 M
TR HALRRE (1, ni) 99.75 1 86.99 M 77.48 1
(%A O ZTHARIS T T A~C OFBHEREH S ET)
2. R4 D25 )

(1) JURMHilfiks 0> 5245 (M. t)
SR I 2020 4E 7 4 ~2020 4 9 A 75 D8
eI (LNG) 35,390 (a)
FEVELFRHmAS (LNG) 39,090 (b)

Z%E(a—D)

-3,700 (100 M RItI#)

SCPRIERHERS (LNG) (3505 featfin: & 5




(2) HLEHEREERRORE T Tk

Sk s

<JFUBMillikE D ZE BN L B JFURHE REAR O FLE >
W24 SRR A% 0 B
= ) aE () i &E (T )
7 H 74y LNG 1k 6,035,738 243,845,341
8 H 74y LNG ik 5,840,057 190,904,209
9 H/y LNG fffit% 6,504,010 196,757,835
& Ff 18,379,805 631,507,385
LNG ks (& 5 #E 3 1Hi)
631,507,385 THJ 18,379,805t X 1,000 = 34,358.76414 H/t
L (10 FIATG Y 1)
= 34,360 [/t
34,360 M/t X1.0299 (LNG ~0 2R AR X B Ak kL)
= 35,387.364 [
L (10 FIATG Y T AN)
= 35,390 [/t

SEHERMIIRS 1L 85,890 [/t L 720 £,

BRI Z BB O FE  CEEIFURHEIRS 75 2L HE P2 JFURHikS LL_E D 355)

35,390 4/t — 39,090 M/t (Ck FLMEPLFEHIES) = -3,700 FI/ t
L (100 MR{mEI Y 45 T)
=_-3,700 1t

K FLYEFURMiAS 13 LNG V-2fiks (H28.3~5 51 53 HiE)
BRI (1 b7z 0 REEE) ORE
MR = 0.068 (3%) X -3,700 [ + 100 [ X
= _-2.7676 [
VE B BB = FEYEHLABH B 1 0.068 [ X FUEMiAR 2 B)EH 100 1 X (1 +{H#FLER)

(CHESEEE LB T,

(1+0.10) =-2.7676 1

O ERERICH LN SMU Y0 C el 9,
* A BB D GE OFHRE AL O FHRA

102.52 1 + 0.068 ] X -3,700 F] = 100 X (1+0.10) = 99.7524
= 99.75 1 (MR 3 (LA R #50)
5% EERAEHEIILL T O L B0 T,

(B 10%3A)

CHT 3 F i X) A BHé Bkt C ¥

FEMERALEME (19 nd) 102.52 [ 89.76 80.25 [

¥ 0.068 | LJEEHMERS DR 258 100 [z X, H A 1m0 s+ 2548401,



